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Mr. Schlansky v Geometry

Parallel Lines With Triangles

1. In the diagram below, £]| z and QRLST

If mZz1 = 63, find m£2. A&Qr
e (3N Q43+ x=190
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2. In the diagram below, lines n and m are cut by transversals p and g.

What value of x would make lines » and m parallel? l//g [l—l L(,/‘ C]@’Q,) ale C()(l j[ (/QI/) /-
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3. In the diagram below, AEFB I CG:J and GF and GF are drawn.— 2
[f msEFG = 32° and mLAEG = 1377 What is mLEGF? e
1) 11° A E y 3 F B
2) 43° LY )

3) 75°
4) 105°
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4. As shown in the diagram below, ABC | 27 EFG and BF = BF.

If m/CBF = 42.5°, find s 8EBF, —
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5. In the diagram below, 45| DuF AF and BD intersect at C, m£B = 43°  and mlCEF = 152°,
Which statement is true? ) 152 137 4{/3 _A /418(_

1) meD=280 X< ;

2) msd=43 >
A ACD = T1°

4) msEBCE = 10%° K
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